	Mammals reproduce…

	
through asexual reproduction

	
through cloning
	
through sexual reproduction

	Butterflies go through the change of metamorphosis. This is when… 

	

an animal stays the same from birth to adult
	
an animal physically develops after birth or hatching, involving a change in the animal’s body structure 

	

an animal looks like a smaller version of the adult when it is born

	The life cycle of an amphibian is…

	
Egg laid in water, froglet, tadpole, adult frog

	
Eggs laid on land, tadpole, froglet, adult frog
	
Eggs laid in water, tadpole, froglet, adult frog 

	Spider plants reproduce through asexual reproduction. This means…

	
2 parent plants are involved

	
1 parent plant is involved and produces clones 

	
pollen is taken from 2 plants

	The process of sexual reproduction in plants is…

	
fertilisation, pollination, germination, seed dispersal 


	
pollination, fertilisation, seed dispersal, germination  
	
germination, pollination, fertilisation, seed dispersal
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